LOSUNG zu bsp-6569-1/NHBQ

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 6569

Aufgabe 1
Vervollstindige die Tabelle.
7 | B | Zahl | als Wort
5| 3| 53 | dreiundfiinfzig
2|6 | 26 | sechsundzwanzig
6 | 1| 61 | einundsechzig
4|10 | 40 | vierzig
91 2| 92 | zweiundneunzig
96| 96 | sechsundneunzig
312 32 | zweiunddreilig
10| 10 | zehn
7|2 | 72 | zweiundsiebzig
0|4| 4 |vier
Aufgabe 2
Vervollstandige die Tabelle.
H | Z | E | Zahl | als Wort
6 | 5|2 | 652 | sechshundertzweiundfiinfzig
1|0 |3 ]| 103 | einhundertdrei
13| 0| 130 | einhundertdreibig
6 |1|1| 611 | sechshundertelf
90| 9| 909 | neunhundertneun
1 (1|1} 111 | einhundertelf
2 | 7| 2| 272 | zweihundertzweiundsiebzig
6 |9|6 | 696 | sechshundertsechsundneunzig
6 | 2|7 | 627 | sechshundertsiebenundzwanzig
6 | 0|1 | 601 | sechshundertein
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Aufgabe 3
Vervollstandige die Tabelle.
Z | E | Zahl | als Wort
72| 72 | zweiundsiebzig
3| 1| 31 |einunddreibig
8| 7| 87 | siebenundachtzig
5|7 | 57 | siebenundfiinfzig
03 3 | drei
2| 2| 22 | zweiundzwanzig
92| 92 | zweiundneunzig
3| 7| 37 |siebenunddreifig
1|5 | 15 | fiinfzehn
6 | 7| 67 | siebenundsechzig
Aufgabe 4

Vervollstindige die Tabelle.
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Zahl | als Wort

840 | achthundertvierzig

876 | achthundertsechsundsiebzig

16 | sechzehn

688 | sechshundertachtundachtzig

192 | einhundertzweiundneunzig

334 | dreihundertvierunddreifig

76 | sechsundsiebzig

391 | dreihunderteinundneunzig

399 | dreihundertneunundneunzig
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144 | einhundertvierundvierzig

Viel Erfolg!
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